

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

12/21/2023 09:00 AM | Delivery + Install Day 1

12/22/2023 09:00 AM | install Day 2 12/23/2023 09:00 AM | Install Day 3 12/24/2023 05:00 PM | Event 12/26/2023 09:00 AM | Strike Shipping Address: Private Home

24895 Long Valley Rd

Calabasas

PO:

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions 12.1	9				
	Club & Lounge Chairs - London - Concord Club Chair 34"W x 36"L x 35"H	2	\$225.00	Т	\$450.00
	Accent Table - Manila - Round Carved Wood 15" 15"Diam x 15"H	2	\$100.00	T	\$200.00
	Accent Table - Santa Fe - Accent Table - Natural Wood Square 23"W x 17"L x 24"H	4	\$125.00	Т	\$500.00
	Accent Table - Woodsy Style	4	\$100.00	T	\$400.00
			Total Additions 12.19		\$1,550.00
Main Tent - Gla	ss Tent 10H Legs				
	Perimeter Drape - Off White Gauze with Backing instock pleated approx 160'	1	\$3,500.00	Т	\$3,500.00
	Perimeter Valance - Off White Cotton approx 160'	1	\$850.00	T	\$850.00
	Stage Backdrop - Cut Logs 24"L Logs piled (naturally) to create backdrop price to be determined	1	\$45,000.00	Т	\$45,000.00
	Carmel Straight Bar 5'L - FLAT Front FLAT front in off white linen 5"W x 30"L x 42"H - Front Options Upon Request	2	\$850.00	Т	\$1,700.00
	NEW Top for Carmel Bar 5' Straight white wash wood; similar to chair from theoni	2	\$400.00	Т	\$800.00
	Carmel Curved Bar 5'L - FLAT Front flat front in off white linen 6'W x 30"L X 42"H	4	\$850.00	T	\$3,400.00
	NEW Top for Carmel Bar 5' Curved white wash wood; similar to chair from theoni	4	\$400.00	Т	\$1,600.00

Description		Qtty	Price		Total
	Straight Barback 6'L - White Wash Wood Wood Facade 6'W x 18"L x 8'4"H - Frame Color Upon Request	4	\$275.00	Т	\$1,100.00
	Pasadena Banquette 6'L - To be Covered 6'W x 39"L x 30"H	8	\$262.50	T	\$2,100.00
	NEW Banquette Cover 6'L - Off White Linen	8	\$650.00	Т	\$5,200.00
	NEW Modular Foam Bench w. Backrest 6' x 30"D x 18"H; to surround the central planter In off white linen	10	\$3,200.00	Т	\$32,000.00
	NEW Modular Foam Bench w. Backrest 5'W x 30"D x 18"H to surround the central planter In off white linen	2	\$2,800.00	Т	\$5,600.00
	Accent Pillows - Matching to Foam Bench various shapes (similar to inspirational image) all in matching off white linen	84	\$65.00	Т	\$5,460.00
	Ottoman Pod 18"D - Off White Linen 18"RND x 17"H - Cover Color Upon Request	40	\$85.00	Т	\$3,400.00
		Total Main Tent - 0	Glass Tent 10H Le	gs	\$111,710.00
Food Tent - Cle	ar Top 40 x 15 x 10H				
	Exterior Perimeter Drape - Off White Gauze instock pleated for a 40' x 15' tent	1	\$1,750.00	T	\$1,750.00
	Interior Perimeter Drape - Off White Gauze instock pleated for a 40' x 15' tent	1	\$3,000.00	Т	\$3,000.00
	Perimeter Valance - Off White Cotton for a 40' x 15' tent	1	\$1,350.00	Т	
					\$1,350.00
	Table Frame 28' x 48"W w. Curved Ends	1	\$1,300.00	T	
	Table Frame 28' x 48"W w. Curved Ends Fitted Table Cloth - Off White Linen with inverted pleats (no piping)	1	\$1,300.00 \$3,350.00	T T	\$1,300.00
	Fitted Table Cloth - Off White Linen		\$3,350.00	T	\$1,300.00 \$3,350.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen	1	\$3,350.00	T	\$1,300.00 \$3,350.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen with inverted pleats (no piping)	1	\$3,350.00	T	\$1,300.00 \$3,350.00 \$10,750.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen with inverted pleats (no piping) 40 x 13H Structure Exterior Perimeter Drape - Off White Gauze	1 Total Food Tent - Clea	\$3,350.00 ar Top 40 x 15 x 1	T 0H	\$1,300.00 \$3,350.00 \$10,750.00 \$4,000.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen with inverted pleats (no piping) 40 x 13H Structure Exterior Perimeter Drape - Off White Gauze for a 40' x 50' x 13'H tent	Total Food Tent - Clea	\$3,350.00 ar Top 40 x 15 x 1 \$4,000.00	T 0H T	\$1,300.00 \$3,350.00 \$10,750.00 \$4,000.00 \$950.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen with inverted pleats (no piping) 40 x 13H Structure Exterior Perimeter Drape - Off White Gauze for a 40' x 50' x 13'H tent Exterior Valance - Off White Cotton	Total Food Tent - Clear	\$3,350.00 ar Top 40 x 15 x 1 \$4,000.00 \$950.00	T 0H T	\$1,350.00 \$1,300.00 \$3,350.00 \$10,750.00 \$4,000.00 \$950.00 \$6,500.00 \$12,750.00
Kids Tent 50 x	Fitted Table Cloth - Off White Linen with inverted pleats (no piping) 40 x 13H Structure Exterior Perimeter Drape - Off White Gauze for a 40' x 50' x 13'H tent Exterior Valance - Off White Cotton Exterior Ceiling Cap - Black Lycra Interior Perimeter Drape - Star Drop Drape	Total Food Tent - Clear 1 1 1	\$3,350.00 ar Top 40 x 15 x 1 \$4,000.00 \$950.00 \$6,500.00	T OH T T	\$1,300.00 \$3,350.00 \$10,750.00 \$4,000.00 \$950.00 \$6,500.00

Description		Qtty	Price		Total
	Perimeter Valance - Black Velvet for a 40' x 50' x 13'H tent	1	\$2,755.00	T	\$2,755.00
	Custom Arched Exits Creating a curved archway at exits using flat fabric and materials; double sided	4	\$1,800.00	T	\$7,200.00
	Gingerbread Large Snowflake 2D - Brown w. Puff White Design 36" x 36" in size	6	\$1,300.00	Т	\$7,800.00
	Gingerbread Small Snowflake 2D - Brown w. Puff White Design 24" x 24" in size	18	\$1,075.00	Т	\$19,350.00
	Gingerbread Large Trees 2D - Brown w. Puff White Designs 60"H in size	4	\$3,500.00	T	\$14,000.00
	Gingerbread Small Trees 2D - Brown w. Puff White Designs 48"H in size	4	\$2,800.00	T	\$11,200.00
	City Facade Paneling (London) - Chocolate Brown 80' Linear x 16'H = approx 40' layered Linear Layered to create 3D effect Painted chocolate brown with hand painted white details 80' LINEAR FEET x 16'H	1	\$6,500.00	Т	\$6,500.00
	NEW City Facade Paneling - Chocolate Brown need approx 40' Layered linear to create a 3D effect Painted chocolate brown with hand painted white details	1	\$10,855.00	T	\$10,855.00
	New Kids Donut Round Table - 8'D x 30"D x 24"H for kids activities and dining to wrap around trees painted brown with hand painted white details	2	\$1,650.00	Т	\$3,300.00
	Ottoman Pod 18"D - Chocolate Brown with hand painted details to resemble ginger bread theme 18"RND x 17"H - Cover Color Upon Request	24	\$85.00	T	\$2,040.00
***	Props Wooden Lamp Post - Chocolate Brown w. White Details 16" X 9' 10" H	10	\$400.00	T	\$4,000.00
198	Gingerbread House 14' x 14' x 17'H (front face) painted brown with puff white details; replica of clients existing gingerbread house	1	\$50,000.00	T	\$50,000.00
	Pedestals - Round 36" X 36"h - Multicolor painted brown with painted white details 36"Diam x 36"H - Color Change Upon Request	1	\$450.00	Т	\$450.00
	Pedestals - Round 30"x 38"h - Multicolor painted brown with painted white details 30" Diam x 38"H - Color Change Upon Request	2	\$400.00	T	\$800.00
	Pedestals - Round 24"x 30"h - Multicolor painted brown with painted white details 24" Diam x 30"h - Color Change Upon Request	2	\$350.00	T	\$700.00

Description		Qtty	, Price		Total
	Props - Cart w. Awning - Amarena painted brown with hand painted white details Awning to match 77âN W W38âN X.77âN N H	1	\$1,350.00	Т	\$1,350.00
	Props - Cart w. Awning - Limone painted brown with hand painted white details Awning to match 8WâM & 40âM X 179âM H	1	\$1,350.00	Т	\$1,350.00
	Props - Bicycle Cart w. Awning - Mela painted brown with hand painted white details Awning to match 4â\(\text{ W} \times 140\hat{a}\(\text{ M} \times 40\hat{a}\(\text{ M} \text{ H} \)	1	\$1,350.00	Т	\$1,350.00
	New York Bar 6'L - Chocolate Brown with hand painted details in white 6'W x 31"L x 42"H - Color Change Upon Request	1	\$950.00	Т	\$950.00
	Straight Barback 6'L - Chocolate Brown 6'W x 18"L x 8'4"H - Frame Color Upon Request	1	\$250.00	Т	\$250.00
		Total Kids Tent	50 x 40 x 13H Stru	cture	\$181,400.00
Kitchen Tent - 20) x 40 x 14H Leg				
	Exterior Perimeter Drape - Off White Gauze for a 20' x 40' x 14'H	1	\$3,500.00	Т	\$3,500.00
	Exterior Ceiling Cap - Black Scuba for a 20' x 40' x 14'H	1	\$3,000.00	Т	\$3,000.00
	Perimeter Valance - Off White Cotton for a 20' x 40' x 14'H	1	\$765.00	T	\$765.00
		Total Kitchen	Total Kitchen Tent - 20 x 40 x 14H Leg		
Bathroom Tent 2	0 x 30 x 12H Leg				
	Exterior Perimeter Drape - Off White Gauze for a 20' x 30' x 12'H tent	1	\$3,500.00	Т	\$3,500.00
	Interior Ceiling Drape - Off White Gauze for a 20' x 30' x 12'H tent	1	\$3,750.00	Т	\$3,750.00
	Interior Perimeter Drape - Off White Gauze for a 20' x 30' x 12'H tent	1	\$3,500.00	Т	\$3,500.00
	Perimeter Valance - Off White Cotton for inside and outside	1	\$765.00	Т	\$765.00
	Exterior Ceiling Cap - Black Lycra	1	\$3,000.00	Т	\$3,000.00
	NEW Wood Framed Mirror - Light Wood	2	\$275.00	Т	\$550.00
	Florence Console Table - 6'L Ivory 71"W X 16"L X 31"H - It can be painted with a whitewash finis	2 sh	\$200.00	Т	\$400.00
•		Total Bathroom	Tent 20 x 30 x 12h	d Lea	\$15,465.00

2 6	\$1,800.00 \$500.00	iip	\$0.00 \$21,600.00 \$3,000.00
6 I	\$1,800.00 \$500.00 \$500.00	ip	\$21,600.00
6 I	\$1,800.00 \$500.00 \$500.00	ip	\$21,600.00
6 I	\$500.00 \$500.00		
6 I	\$500.00 \$500.00		
6	\$500.00		\$3 000 nc
ļ.	•		45,000.00
	AE00.00		\$8,000.00
l.	\$500.00	Т	\$2,000.00
	\$65.00	Т	\$260.00
<u>)</u>	\$2,400.00	Т	\$4,800.00
	\$2,550.00		\$2,550.00
	\$1,650.00		\$1,650.00
	\$6,000.00		\$6,000.00
	\$18,000.00		\$18,000.00
3	\$2,400.00		\$19,200.00
}	\$1,250.00		\$3,750.00
	\$5,000.00		\$5,000.00
	\$1,200.00		\$1,200.00
	\$1,600.00		\$1,600.00
	Total Produc	te:	\$328,140.00
otal La			\$98,610.00
			\$3,162.25
	Packing (2.009	%):	\$6,324.50
7	Taxes (tax excemp	t):	\$0.00
	Discoun	ts:	(\$11,915.00)
	Tot	al:	\$424,321.75
	Paymen		
1 1 1	V	\$1,650.00 \$1,650.00 \$1,250.00 \$1,250.00 \$1,200.00 \$1,200.00 Total Productoral Labor/Services/Mis Wear & Tear (1.009 Packing (2.009 Taxes (tax excemp	\$1,650.00 \$6,000.00 \$18,000.00 \$2,400.00 \$1,250.00 \$5,000.00 \$1,200.00

\$0.00

Balance: